V774

RIZE / Product Number

AUXE - -

H~Ti% Wik

H dimension W dimension

D~Fi%

D dimension

A

TILZRE

Aluminium Feet

EHE R{L#% / Original trapezoid head screw specification

BT =hJ)LT—74 / Technical Datall

#B{ThILY / Recommended torque : 0.3N=m ~ 0.6N*m

EXP/H)

Screw (P or H)

itk

Color Type

HEHINZ / Components

E’ 75X / Phillips 73 / Hexagon—socket
f{L#k / Color Type
i85 / Code a—4—2J0v% / Corner block {84 / Frame $173— / Top cover | FH/\— / Bottom cover
S S < JLsN— / Silver </ JLs\— / Silver < )L13— / Silver < )LsS— / Silver
S B J5v7% / Black 2 )LIN— / Silver 2 )LiR— / Silver 2 JLsR— / Silver

No. 2 %5 / Part name #E / Pcs #'&E / Material - RmEME / Color-Finish
' a—+—Javy 4 TILEF L Fv X+ ADC12 DIVIR— TSy - B (RERRLIE)
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
9 Btk 4 TILSHR A AB063S-T5 DIV —EE (NERRILIE)
Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
s HN— 1 7 LR A1100P DILA—-E% (EEERLE)
Top cover Aluminium A1100P Silver=Painted (Conductive inside)
4 FTh— : 7 ILEHR A1100P DIVA—BE (REERLE
Bottom cover Aluminium A1100P Silver=Painted (Conductive inside)
5 TILZRE 4 FILE & 2)avd IWIN—TIIA & TS5YY
Aluminium feet Aluminium & Silicone Silver=Anodized & Black
6 EMCY—ILRH Ry g LEMMAME (UL94V-0) A9 9T L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
; ER{$E R (M3 x 8) 1 % =L AYE
Screw (Flat head M3 - 8) Steel Nickel plated
g B{TE R (EHM3 x 5) i % =T ILAYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
9 HBFE R VS12KM4 x 8) 4 &% =R aA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
®

a4/ Title
TAKACHI| #HASHENTFERIE EMCY—ILRARYH R @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ALUMINIUM CONTROL BOX
&R/ Approved 18X/ Checked #[X/Created FIF /Product number RE/Scale
iR e A AUXE222-50-30AO-0 v

1ERK B /Date

2025/06/16

1/ 6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




292

A-A(1:75)

213.5

D view

30105

221.5+05

10

198.5

B view

o p—
E view
501+0.8
A
fo ) o
B
Q ) o
A —
A view
C
-—— =

B-B(1:75)

492

C view

F view

253

C-C(1:75)

le of7
Q».l Y I.
453
4/ Title
TAKACHI] AW FEHIE EMCY—ILRARYH R (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ALUMINIUM CONTROL BOX
&8/ Approved R/ Checked #[/Created F4Z&/Product number RE/Scale
1:7.5
iR T il AR AUXE222-50-30A0-0 p y
{ER B /Date 2025/06/16 2 /6

AEEOEFEIIRARSHINDTFERIXICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A IR / A Frame

450 22.5
[ap)
—=]
g
[ap)
LD' N
2 ™ 3
N —
N
@
[9p)
==
[ap)
T & <y
M3 = .
5 2-M3FEH S5 5 M / Back side
2-M3 Countersunk
¥ xmEEFE4Hk / Same on the other side.
M@ / Front side
B {l#R / B Frame
=11
=
5| / Back side
2 2 TAKACHI] #XK4tahFEHTE IR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
iﬁ / Front side &R/ Approved & /Checked #1[X|/Created FIFE /Product number RE/Scale
1:3.5
iR £ GES —
H222 - W500 e B /Date 2025/04/30 3 /6
AREDEFIEIHRXESHIDTFER T EIZRBBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fAl#% / C Frame 250 225

(9]
="
@
o™
L ~
e © 3
N o~
@
™
===
™
<« L
- L,i; QI
5 5
2-M3FH37%
<M / Front side 2-M3 Countersunk I / Back side
X Rt EELFEFR / Same on the other side.
D {l#% / D Frame
==
==
ZEm / Back side
Iﬁ QI 4 /Title pr—
TAKACHI| X2 hFERT @)
R / Front side = BRIX AR |
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
B/ Approved 1 [X]/Checked #1[X]/Created R /Product number RE/Scale
1:3
i £ e e
H222 - D300 Y B /Date 2025/04/30 4 /6

AEEOEFEIIRARIHINDTFERIEICTHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




489.4

4-R14.7 470 6-24.5 2
/o s /< PAN
o
o
+
™
Lo
N
£
©
s g 3
~ N = _
44\4 RE—MMA
_'"_j Surface protective film side
=
T
AN & \& ¢,
H#~ti% / Max dim. 453+0.8
@ / Front side ZEm / Back side
fnd/Title
TAKACHI| MXSHINFEHRIE HR— C} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
= = = RE/Scale
K 5B/ Approved 1 [X]/Checked #1[X]/Created R /Product number
1:4.5
iR 3 B4 o
W500 - D300 Y B /Date 2022/11/16 5/ 6
AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
S
& 8 ¥

M / Front side

489.4

470

4414

6-24.5

Axh~ti% / Max dim. 253+0.5

H#~ti% / Max dim. 453+0.8

AN
REES—IMAY
Surface protective film side
N¢ %
ZEM / Back side
fna/Title
TAKACHI] #R&ianFERTSE THhA— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
B/ Approved X /Checked #HIX]/Created R /Product number RE/Scale
1:4.5
iR £ 4t R—/Page
W500 - D300 YERL B /Date 2022/11/16 6 / 6

AREDEFIEIIHRXESHADTFER T EICRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




